Transfers Report

This report contains the transfers results.

Contest Name	Ward 12 - Aird and Loch Ness
Valid Votes	5,059
Positions to be Filled	4
Quota	1,012

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Chris BALLANCE	Scottish Green Party		388
Helen CARMICHAEL	Independent		625
George CRUICKSHANK	Scottish Conservative and Unionist		998
Margaret DAVIDSON	Independent		1,405
Jean DAVIS	Scottish Liberal Democrats		515
Matt FRIESS	Scottish National Party (SNP)		409
Emma KNOX	Scottish National Party (SNP)		719
		Total	5,059

Candidate Margaret DAVIDSON Elected with 1,405 votes, being in excess of the quota of 1,012

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Margaret DAVIDSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris BALLANCE	85	0.27971	23.77535
Transfer to Helen CARMICHAEL	758	0.27971	212.02018
Transfer to George CRUICKSHANK	169	0.27971	47.27099
Transfer to Margaret DAVIDSON	0	0.00000	0.00000
Transfer to Jean DAVIS	156	0.27971	43.63476
Transfer to Matt FRIESS	57	0.27971	15.94347
Transfer to Emma KNOX	54	0.27971	15.10434
Value of non-transferable ballot papers			35.25091
	Total		393.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of George CRUICKSHANK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris BALLANCE	15	0.00890	0.13350
Transfer to Chris BALLANCE	50	0.03183	1.59150
Transfer to Helen CARMICHAEL	344	0.03183	10.94952
Transfer to Helen CARMICHAEL	67	0.00890	0.59630
Transfer to George CRUICKSHANK	0	0.00000	0.00000
Transfer to Margaret DAVIDSON	0	0.00000	0.00000
Transfer to Jean DAVIS	42	0.00890	0.37380
Transfer to Jean DAVIS	286	0.03183	9.10338
Transfer to Matt FRIESS	11	0.03183	0.35013
Transfer to Matt FRIESS	2	0.00890	0.01780
Transfer to Emma KNOX	2	0.00890	0.01780
Transfer to Emma KNOX	6	0.03183	0.19098
Value of non-transferable ballot papers			9.94628
	Total		33.27099

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Chris BALLANCE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Helen CARMICHAEL	93	1.00000	93.00000
Transfer to Helen CARMICHAEL	5	0.00890	0.04450
Transfer to Helen CARMICHAEL	21	0.03183	0.66843
Transfer to Helen CARMICHAEL	19	0.27971	5.31449
Transfer to George CRUICKSHANK	0	0.00000	0.00000
Transfer to Margaret DAVIDSON	0	0.00000	0.00000
Transfer to Jean DAVIS	82	1.00000	82.00000
Transfer to Jean DAVIS	14	0.27971	3.91594
Transfer to Jean DAVIS	14	0.03183	0.44562
Transfer to Jean DAVIS	2	0.00890	0.01780
Transfer to Matt FRIESS	1	0.03183	0.03183
Transfer to Matt FRIESS	16	0.27971	4.47536
Transfer to Matt FRIESS	62	1.00000	62.00000
Transfer to Emma KNOX	103	1.00000	103.00000
Transfer to Emma KNOX	17	0.27971	4.75507
Value of non-transferable ballot papers			53.83131
N.P. The figures may not odd due to rounding	Total		413.50035

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Matt FRIESS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris BALLANCE	0	0.00000	0.00000
Transfer to Helen CARMICHAEL	4	0.27971	1.11884
Transfer to Helen CARMICHAEL	12	1.00000	12.00000
Transfer to George CRUICKSHANK	0	0.00000	0.00000
Transfer to Margaret DAVIDSON	0	0.00000	0.00000
Transfer to Jean DAVIS	15	1.00000	15.00000
Transfer to Jean DAVIS	6	0.27971	1.67826
Transfer to Emma KNOX	414	1.00000	414.00000
Transfer to Emma KNOX	51	0.27971	14.26521
Transfer to Emma KNOX	1	0.00890	0.00890
Transfer to Emma KNOX	9	0.03183	0.28647
Value of non-transferable ballot papers			33.46091

Total

491.81859

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Emma KNOX

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris BALLANCE	0	0.00000	0.00000
Transfer to Helen CARMICHAEL	2	0.00181	0.00362
Transfer to Helen CARMICHAEL	1	0.00647	0.00647
Transfer to Helen CARMICHAEL	39	0.05693	2.22027
Transfer to Helen CARMICHAEL	425	0.20354	86.50450
Transfer to George CRUICKSHANK	0	0.00000	0.00000
Transfer to Margaret DAVIDSON	0	0.00000	0.00000
Transfer to Jean DAVIS	210	0.20354	42.74340
Transfer to Jean DAVIS	16	0.05693	0.91088
Transfer to Jean DAVIS	7	0.00647	0.04529
Transfer to Matt FRIESS	0	0.00000	0.00000
Transfer to Emma KNOX	0	0.00000	0.00000
Value of non-transferable ballot papers			126.19434
	Total		258.62877